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F = ma (4.1)
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(Sir Isaac Newton)
n.dd. 1642-1727
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p = mv (4.2)
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fe = ugN (4.4)
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> F, = ma, (1)
2 F, = may (2)
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Wsin (37°) - § = may (3)
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f = pk Wecos (37%)
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= 43 s/ (R )?
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v = v +  2a(x—-Xg)
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Example4.2
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mpg=T = ma (1)
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T—mgsin3?-f = ma
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mg=m,gsin31°—mgcosd7® = (m +m)a
£ . mg-mgsin37°-pumgcos 37° 3)
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ml + m,

(5kg)(9.8m/s’) - (Skg)(9.8m/s?)(0.6018) - (0.25)(Skg)(9.8m/s*)(0.7986)
(5kg + Skg)

a = 097 ms
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m, g sin 37° = T~ pm,g cos37° = ma (5)
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~(5kg)(9.8mv/s”) + (Skg)(9.8m/s” )(0.6018) - (0.25)(Skg)(9.8m/s” )(0.798)
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